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Ejercicio 1 

 

Tu = 314,7 kN 

εs1 = 10‰    ;    εs2 = 1,17‰ 

 

 

Ejercicio 2 

 

a) ELU, 

As1 = 7,16 cm2 (416) 

As2 = 5,72 cm2 (316) 

b) ELS, tomando s = 200 MPa, 

As1 = 10,36 cm2 (4) 

As2 = 8,29 cm2 (320) 

 

 

Ejercicio 3 

 

Tu = 293,6 kN 

εs1 = 0,90‰    ;    εs2 = 10‰ 

 

 

Ejercicio 4 

 

As1/As2 = 1,19 

 

 

Ejercicio 5 

 

Tu = 546,4 kN 

 

 
 

 

Ejercicio 6 

 

As1 = 8,60 cm2 (320) 
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Ejercicio 7 

 

As1 = 6,01 cm2 (316) 

 

 
 

 

Ejercicio 8 

 

As1 = 8,21 cm2 (320) 

As2 = 2,48 cm2 (312)  

 

 

Ejercicio 9 

 

As1 = 23,81 cm2 (525) 

As2 = 0,81 cm2 (28) 

 

 
 

 

Ejercicio 10 

 

 

𝑀𝑑,𝑦
+ = 13,27 𝑘𝑁𝑚/𝑚 

𝑇𝑦,𝑑 = 18,0 𝑘𝑁/𝑚
} → 𝐴𝑠,𝑛𝑒𝑐 = 5,06 𝑐𝑚2/m → ∅10/15 

𝑀𝑑,𝑥
+ = 5,71 𝑘𝑁𝑚/𝑚  

𝑇𝑥,𝑑 = 13,5 𝑘𝑁/𝑚
} → 𝐴𝑠,𝑛𝑒𝑐 = 2,56 𝑐𝑚2/m → ∅8/19 

  


